L I8 B =4
D EIENAE / 5 &R

AEIELE - SRAFHME

EH 22120.

P i
SEEMBH,

2P

AK
- I, R
« T 1.4305

EEHT
< W, B/

o TR 1.4305, R

FiE

« BR(PAG) , BE , THEN

RS
BekETRIEEMERNERE (EH
22120.).

ELER

EREM

IR - 2]: 0) ki

BRHE AN B,

EZEm

s XEE, AToEER N BEMLE | ES
- EURE , EATIEREN BB
- EEERAER, ERATIEIEME

&[]
d3
i ]
1 B d
- |
6 ! ® =
/AT WS AR
= I I
y / n ) = =
S | lock nut :
dl 22120.0115 — .0120 (steel)
.f' - 1 22120.0515 — .0520 (stainless steel)
'8 d
2 picture 1 picture 2
iTRER
R ws | wEmE" i &
d1 dz d3 d4 |1 |2 |3 |4 |5 |5 F1 Fz min max.
-0,02 ~ min min ~ ~
-0,05
[mm] [mm] [N] [°C] [g]
BFE -HE 1, ZHIHR
5 M10 x 1 21 - 45,0 5 17 - 15 12 6,0 14 -30 80 19 22120.0005
6 M12x 1,5 25 - 54,5 6 20 6 - 17 14 6,5 19 -30 80 29 | 22120.0006
8 M16 x 1,5 31 - 69,0 8 26 8 - 23 19 11,5 28 -30 80 71 | 22120.0008
10 M20 x 1,5 31 - 80,0 10 33 10 - 30 22 23,0 54 -30 80 119 22120.0010
TFB - R 2, ZHILHN
5 M10 x 1 - M5 - 5 17 6 15 12 6,0 14 - 250 14 | 22120.0025
6 M12x1,5 - M6 - 6 20 6 10 17 14 6,5 19 - 250 23 | 22120.0026
8 M16 x 1,5 - M8 - 8 26 8 12 23 19 11,5 28 - 250 54 22120.0028
10 M20 x 1,5 - M8 - 10 33 10 12 30 22 23,0 54 - 250 97 | 22120.0030
AFE - 1, THER
5 M10 x 1 21 - 45,0 5 17 5 - 15 12 6,0 14 -30 80 19 | 22120.0405
6 M12x 1,5 25 - 545 6 20 - 17 14 6,5 19 -30 80 29 | 22120.0406
8 M16 x 1,5 31 - 69,0 8 26 8 - 23 19 11,5 28 -30 80 71 22120.0408
10 M20 x 1,5 31 - 80,0 10 33 10 - 30 22 23,0 54 -30 80 119 | 22120.0410
" et FME
VHALDER 2

& 7E: 26.7.2024


http://halder.com/cn/22120.0005
http://halder.com/cn/22120.0006
http://halder.com/cn/22120.0008
http://halder.com/cn/22120.0010
http://halder.com/cn/22120.0025
http://halder.com/cn/22120.0026
http://halder.com/cn/22120.0028
http://halder.com/cn/22120.0030
http://halder.com/cn/22120.0405
http://halder.com/cn/22120.0406
http://halder.com/cn/22120.0408
http://halder.com/cn/22120.0410

L I8 B =4
D EIENAE / 5 &R

R+ ws | wsERE " I 1 S
d, d, d; d, I4 I, I3 Iy Is lg F, F, min max.
-0,02 ~ min min ~ ~
-0,05
[mm] [mm] [N] [°C] [g]
ZFIE -k 2, THEN
5 M10 x 1 - M5 - 5 17 5 6 15 12 6,0 14 - 250 14 22120.0425
M12x 1,5 - M6 - 6 20 6 10 17 14 6,5 19 - 250 23 22120.0426
8 M16 x 1,5 - M8 - 8 26 8 12 23 19 11,5 28 - 250 54 22120.0428
10 M20 x 1,5 - M8 - 10 33 10 12 30 22 23,0 54 - 250 97 22120.0430
" it P9ME
Eoft
R~ wRFERF i
d;
[mm] [mm] [a]
Lock nuts ISO 8675 (DIN 439), i
M10 x 1 16 5,2 22120.0115
M12x1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120

Lock nuts ISO 8675 (DIN 439), 454K

M10 x 1 16 52 22120.0515
@ M12x 1,5 18 75 22120.0516

M16 x 1,5 24 15,0 22120.0518

\‘ M20 x 1,5 30 32,0 22120.0520

Rz FsE

UlFJ
777 777 /77 7]

L)

For detailed compliance information please select the desired article number.

2w 2
EE HALDER & 7E: 26.7.2024


http://halder.com/cn/22120.0425
http://halder.com/cn/22120.0426
http://halder.com/cn/22120.0428
http://halder.com/cn/22120.0430
http://halder.com/cn/22120.0115
http://halder.com/cn/22120.0116
http://halder.com/cn/22120.0118
http://halder.com/cn/22120.0120
http://halder.com/cn/22120.0515
http://halder.com/cn/22120.0516
http://halder.com/cn/22120.0518
http://halder.com/cn/22120.0520

